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1 Skating cat

A skating cat with mass 10kg is held at rest at the top of a ramp, whose height is 10m above
the ground. The skating cat is released and slides down the ramp. The aim of this exercise
will be to find the speed of the skating cat at the bottom of the ramp.

You can use the table beneath to record the information about the energies.

a) Determine the potential and kinetic energies of the cat at the instant at which it is

released.

b) Determine the potential and kinetic energies of the cat at the instant at the moment at

which it reaches the ground.
c¢) Determine the speed of the cat at the instant at the moment at which it reaches the

ground.
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2 Swinging pendulum

A pendulum with mass 0.20kg is released from rest, At the lowest point of its swing the
pendulum is moves with speed 2.0m/s. "The aim of this exercise will be to find the maximum
height reached by the pendulum.

You can use the table beneath to record the information about the energies.

a) Determine the potential, kinetic and total energies of the pendulum at the lowest point
of its swing.

b) Determine the potential, kinetic and total energies of the pendulum at the instant at: :
which it reaches its highest point.

¢) Determine the maximum height that the pendulum reaches.
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